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Test Outline

Part A: 15 Multiple Choice

Part B: Short Response (#1 to #11)
#1) Use tiles to add
#2) Use tile to Subtract
#3) Add (Use rules)
#H4)
#5) Addition word problem
#6, #7, #8) Number Lines
#9) Fill in the blank
#10) Opposite integers

Use Subtraction rule ( } ¥ %2

#11) True/Sometimes True/ Never True
2 Bonus Questions
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14) a) (+5) - (-7) = 14) b) (-100) - (+50) =

(+5) + (+7)=+12
R

15) a) (-2) - (+7)
(-2) + (-7)

-9
9 in the difference

16) a) (+9) - (-3)
(+9) + (+3)
+12

(-100) + (-50) = -150

15) b) (+25) - (+11)

(+25) + (-11)
+14

16) b) (-6) - (-5)
(-6) + (+9)

-1
1 in the difference
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Page 80
#1) @) (5) + (-8)==Y  b)(-3)- (+7) c) (-9) + (-1)
Y Y
é ®
6°000bon
d) (-4) + (+10) e) (-6) - (-2) ) (+12) - (-11)
#2)
a) (+9) +(-1) B) (-4) - (+11) C) (-8) *+ (-3)
D) (+13) - (+6) E) (-7) + (+9)
F) (-1) - (-5)
#9) A) (-273) - (+100)

(-273) +(-100) There is a difference of 373 degrees
- 373
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Grade 7 Test Review N
Unit 2: Integers -1 +1

Adding with tiles

-When you add integers you represent each integer in the
addition statement. (Remove zero pairs and state answer)

o (2)+(+3) =43

(2) %
+5) NNNF

‘n® *

zero pair

/]

Adding with Number lines

- Always start at zero

- Count the bumps in the road for the first integer
Move to the right = if positive
Move to the left <= if negative

- When adding the second integer we count the bumps on the road in
the direction given from where we ended with the first integer.

-Where you end up is the answer.

(-4) + (:g) =+%
loft right

9-8-7 6-5 -4 -3 -2 -1 0 +1 42 +3 +4 +5 +6 +7 +8 +9
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Adding with Rules

-When we add two integers with the same signs: Thinking
Ex) 1 Thinking Ex) 2 4+8 = 12

- -7)= : So answer is +12
(Q’ +/(7)-'10 S P () +/+8>=+12

so answer is -10

both signs (-) both signs (+)

Both signs the same then just add both numbers
together, ignoring the sign, and the answer has to
have the same sign as the original integers

+) + (-
-When we add two integers with the different signs:

Step 1) Cover up the signs and ask yourself which number is larger.

The answer will have the sign of the bigger number

Step 2) Since they are different, ignore the sign and find the difference
between the two numbers (Big minus small). That is your number for
the answer

Ex) (+2) + /-7) =-5

241929 \

Different signs

between 2 & 7, 7 is bigger so the sign on 7
Step 1 ) goes with the answer (-)

Different signs

step 1) When you cover up the signs, we have 12 & 3.

12 is Larger so our answer will have the sign on Step2) 7-2=5
12 which is (-) :

step2) 153 =9
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Which Number is larger? (Use <,>, =)

(-199) (1)

Word problems
Represent the following as addition using integers

Bill owed his mom $15 and then borrowed
another $5. What is his sum?

The temperature is 15°C at lunch then drops 4°. What is the
new temperature?

10
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NN
-1+

Subtracting with tiles

- Always model the first integer
-Remove second integer

*if there are not enough to remove then add zero pairs of tiles and it
does not change the question

Ex1) (-7)-(-3)

Start with 7 negative tiles, then ask yourself if you can
remove 3 negative titles. YES
To show removing, circle and point arrow away

=4

What is left over is the answer.

Ex2) (-9)-(+2)

Step 1)Start with 5 negative tiles, then ask yourself if you can remove 2
positive titles.  NO

To show removing, circle and point arrow away

Step 2)

Need to add zero pairs ( two positive and 2 negative)

NN

Step 3) Now remove 2 positive tiles

11



gr 7 u2 int day 13 add, subtact Review for test (M. O'Keefe) Day 4 review.nofetimdler 03, 2022

Subtracting Rule

- Keep the sign on the first integer and "ADD the OPPOSITE"

Keep sign the same on the first integer
change the subtraction to addition and
change the sign on the second integer.
THEN USE ADDITION RULES

Ex 1) (+9) - (-5)
(+9) + (+5)«———— must show this step
now addition rule
(+9) + (+ 5) = +14

12
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Test Tomorrow

STUDY
How?

Practice

Test Review Worksheet Sheet
o

13
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Name:

Math 7
Unit 2: Integers Test REVIEW SHEET September 2014

Let one shaded tile represent +1 and one unshaded tile represent —1.
1) You have 15 unshaded tiles and 7 shaded tiles. What additional tiles do you need to model +2?
2) Model (+5) + (-7) with tiles.

3) What sum is modeled by 20 positive tiles and 11 negative tiles?

4).Find the sum.
(-12) + (-7)

5). Add.
(+17) + (-3)

6) .Model the addition equation (-4) + (+7) modeled by the number line.

-7 6 -5 4 3 2 -1 0 1 2 3 4 5 6 7

7)  Sam owns a small business. He made a profit of $18 on Saturday and lost $15 on Sunday. Find the total profit or
loss for the weekend.

8).Model with tiles ~ a) (+8) — (+3) b) (-4) — (+6)

9) .Subtract.
a) (-15)-(7) b) (-14) — (+3) c) (+4) — (-2) d) (+17) - (-15)

10) .Bryan gets on an elevator at the 28" floor. The elevator goes up 11 floors then down 6 floors.
At what floor does it finally stop?

11) .Rewrite using addition.
a) (+17) - (+6) b) (-2)-(-3)

12)  Evaluate. (Use rules)
a) (-15) — (+9) - (-2) b) (+21) + (-2) — (+5)

More Practice
1.Using tiles Add the following using TILES:

a. () +(+9)=____ b) (:8)+(-2)= _ OCN+(H4)=___

2.Using Tiles SUBTRACT the following:

a. (t10)-(4)=____ )(N-()=____ ¢ (#)-(+5)=__





3.Use addition rule to add the following: (Do not have to show work)

a. (+14)+(-2) = b) (-15) + (-10) =
4. Use the SUBTRACTION RULE and evaluate the following: (Show the rule under the subtraction question).
a. (+17)—(-14) = b) (:8)-(+3)=___
6. Write the addition equation modeled by the number line. Answer:
—

7. Use a number line to add.

(+2)+(-5) =

8. Use a number line to add.

(+¢nN=__

9. Copy and complete.
(-5 +1=(-1) What integer goes in the |:|?

10. Write the opposite of each integer.
a) +10
by -12
11. Is each statement always true, sometimes true, or never true?

Provide examples to support your answers.
a) The sum of a negative integer and a positive integer is negative.

Example)
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